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<k5vo> <k5vo> <k5vo>
1110:00 #* 7%&100mH (2#8) 1110:00 5 8f&100m (2#8) 1110:.00 5 8%110mH (2#8)
2:10:15 5B 110mH ¥ (3#H27%+2) | 2: 10:10 % 800m ¥ (3#H27%F+2) |2:10:20 & 100mH ¥ (3fH25F+2)
3:10:40 5B 400m ¥ (3#H27%+2) |3 10:30 B 800m ¥ (3#H27%F+2) |3 10:40 B 200m ¥ (3#H25F+2)
4:11:00 %& 400m ¥ (3#H2%F+2) | 4:10:50 % 400mH ¥ (3#H27%F+2) | 4: 11:00 & 200m ¥ (3fH25F+2)
5{11:30 B 1500m ¥ (24865&) 5{11:10 B 400mH ¥ (3#H27%F+2) |5 11:30 % 3000m R
6{11:50 % 1500m ¥ (2#863&) 6! 11:30 B 3000mSC ¥ (2#16%) 6{12:00 & 100mH *=
711210 B 4x100mR % (3#27%&+2) | 7! 1210 & 100m ¥ (3#H27%F+2) |7i12:20 B 200m R
8:12:30 & 4x100mR F (3#f27%+2) |8:12:30 5 100m ¥ (3#H27%F+2) |8 12:30 & 200m R
91 12:50 %& 5000mW P 9:13:10 % 400mH R 9{12:50 5 5000m *=
10! 13:50 5B 110mH 3 10§ 13:20 5 400mH R 10i 14:10 5 8%&1500m
111 14:10 5B 400m P 11: 13:40 % 800m *R 11 14:30 % 4x400mR R
12{ 14:20 % 400m B’ 12{ 13:50 5 800m *R 121 1440 B 4x400mR R
13 14:50 5 1500m P 13 14:00 & 100m *=
14{ 15:10 % 1500m P 141 1410 5 100m *R
15! 15:20 %& 73&200m (248) 15 15:00 B 3000mSC &
16; 15:30 B 5000mwW 3 16! 15:20 & 4x400mR % (3fA2%&+2)
17: 16:20 B 4x100mR R 17 15:50 B 4x400mR % (3fA2%&+2)
18! 16:30 & 4x100mR R 181 16:20 % 73#&800m (248)
191 16:40 5 8%&400m (248)
<T4—ILE> <T4—ILE> <T4—ILE>
[ B B ) [ B B ) [ B & )
1i 1000 B EMEBE R 111030 % ESH R 111000 % =E%Bk R
21 11:00 B #HE8k R 21 11:00 & #H=k R 211200 5B sfEEsEH R
31 11:00 & 7FEESH 31 11:20 5B siEEMEHE 31 12:30 B =EBk R
4% 1330 % FEMEBK R 4% 1300 % 7iEERB
5: 1400 B FE=B R
[ #& T & ] [ T =] [ #& T & ]
1000 & N\Uv—i% iR 14 1000 5 Mg ®’ 11 10:00 % Fahix R
1200 B Hhov—#% R 211230 % PYH ®’ 21 1040 5 8EDYIR
13:20 & 7#ERaAi% 31 1300 5B siEmaii%x R 311230 5B DV R
1430 & MR R 41 1430 % 7 EPYH
5{ 1500 5 fahix R




